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Answer Sheet

Name:       







Date:

Subject Combination:

Instructions:

For each question, choose the best answer: A, B, C or D. You must make one choice only for each number.

Mark your answers on the answer sheet. You must mark the answer you have chosen with a cross (X), as in the example.

	Example:
	A
	B
	C
	D


	1. 
	A   purchase
	B   require
	C  inherit 


	D   acquire

	2. 
	A   experiment
	B   cause
	C   event
	D   offspring

	3. 
	A   shown
	B   have been showing
	C   having been shown
	D   have shown 



	4. 
	A   divisions
	B   cells 
	C   radiation
	D   zaps

	5. 
	A   defects 
	B   effects
	C   marks
	D   signs

	6. 
	A   helped
	B   bathed
	C   shown
	D   exposed 

	7. 
	A   is affected
	B   has affected
	C   affected
	D   affects

	8. 
	A   at 
	B   on
	C   in
	D   by

	9. 
	A   or
	B   and
	C   either 
	D   neither

	10. 
	A   justly
	B   completely
	C   under  
	D   just 

	11. 
	A   reproduce
	B   produce 
	C   induce
	D   reduce

	12. 
	A   scores
	B   rates 
	C   amounts
	D   bills

	13. 
	A   offspring 
	B   elders
	C   parents
	D   springoff

	14. 
	A   unstabilises
	B   disstabilises
	C   destabilises 
	D   restabilises

	15. 
	A   something 
	B   somehow
	C   anything
	D   anyhow

	16. 
	A   mustn’t
	B   not
	C   cannot
	D   don't 

	17. 
	A   predicts
	B   knows 
	C   forgets
	D   guesses

	18. 
	A   whichever
	B   whatever 
	C   whoever
	D   wherever

	19. 
	A   confronting
	B   confronts
	C   faces
	D   facing 

	20. 
	A   on
	B   to
	C   for 
	D   with


Final number of points:

Marker and double marker signatures:
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Text Sheet

Suffer the children (from: New Scientist)

Even the great-grandchildren of people exposed to radiation could (1) ……  unstable genomes, a new study suggests. This instability may be the (2) …… of the leukemia cluster around Britain's Sellafield nuclear plant.

Studies over the past few years (3) …… radiation damage to be surprisingly persistent. It increases mutation rates not just in cells directly zapped by radiation, but also in (4) …… many divisions later. Birth (5) …… are more common in the offspring of mice (6) …… to radiation, and in the following generation too. Mutation rates are also high in both generations (Nature, vol 405, p 37).

Now geneticists have shown that even the fourth generation (7) ……. A team (8) …… the University of Leicester led by Yuri Dubrova took 20 male mice from three different strains and irradiated them (9) …… with high-energy neutrons for (10) …… over 2 hours, or a blast of X-rays for 2 or 4 minutes. They were then mated with healthy females from the same strain, and the offspring were allowed to breed with healthy animals to (11) …… great-grandchildren of the original mice.

The team measured mutation (12) …… in the mice by looking at two stretches of DNA called short tandem repeats, which are prone to spontaneous and radiation-induced mutations. They found mutation rates for the male and female (13) …… and in the following two generations were as high as in their irradiated ancestor, regardless of the type of radiation, the dose or the mouse strain.

The results also suggest that the radiation damage (14) …… the entire genome of later generations, not just the sections damaged in the irradiated animal. "There's (15) …… global happening that's affecting the stability of the whole genome," says Ruth Barber, a member of the Leicester team.

She thinks this stems from changes that (16) …… alter the genetic code but can still pass to a cell's descendants. But no one (17) …… what changes would cause the genome to become prone to mutations.

(18) …… the mechanism, the results highlight the potential dangers (19) …… the children of people exposed to radiation. The team says its results provide "a plausible explanation (20) …… the apparent leukemia cluster near Sellafield".
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Suffer the children (from: New Scientist)

Even the great-grandchildren of people exposed to radiation could inherit unstable genomes, a new study suggests. This instability may be the cause of the leukemia cluster around Britain's Sellafield nuclear plant.

Studies over the past few years have shown radiation damage to be surprisingly persistent. It increases mutation rates not just in cells directly zapped by radiation, but also in cells many divisions later. Birth defects are more common in the offspring of mice exposed to radiation, and in the following generation too. Mutation rates are also high in both generations (Nature, vol 405, p 37).

Now geneticists have shown that even the fourth generation is affected. A team at the University of Leicester led by Yuri Dubrova took 20 male mice from three different strains and irradiated them either with high-energy neutrons for just over 2 hours, or a blast of X-rays for 2 or 4 minutes. They were then mated with healthy females from the same strain, and the offspring were allowed to breed with healthy animals to produce great-grandchildren of the original mice.

The team measured mutation rates in the mice by looking at two stretches of DNA called short tandem repeats, which are prone to spontaneous and radiation-induced mutations. They found mutation rates for the male and female offspring and in the following two generations were as high as in their irradiated ancestor, regardless of the type of radiation, the dose or the mouse strain.

The results also suggest that the radiation damage destabilises the entire genome of later generations, not just the sections damaged in the irradiated animal. "There's something global happening that's affecting the stability of the whole genome," says Ruth Barber, a member of the Leicester team.

She thinks this stems from changes that don't alter the genetic code but can still pass to a cell's descendants. But no one knows what changes would cause the genome to become prone to mutations.

Whatever the mechanism, the results highlight the potential dangers facing the children of people exposed to radiation. The team says its results provide "a plausible explanation for the apparent leukemia cluster near Sellafield".
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Subject Combination:

Instructions:

For each question, choose the best answer: A, B, C or D. You must make one choice only for each number.

Mark your answers on the answer sheet. You must mark the answer you have chosen with a cross (X), as in the example.

	Example:
	A
	B
	C
	D


	1. 
	A   purchase
	B   require
	C  inherit 


	D   acquire

	2. 
	A   experiment
	B   cause
	C   event
	D   offspring

	3. 
	A   shown
	B   have been showing
	C   having been shown
	D   have shown 



	4. 
	A   divisions
	B   cells 
	C   radiation
	D   zaps

	5. 
	A   defects 
	B   effects
	C   marks
	D   signs

	6. 
	A   helped
	B   bathed
	C   shown
	D   exposed 

	7. 
	A   is affected
	B   has affected
	C   affected
	D   affects

	8. 
	A   at 
	B   on
	C   in
	D   by

	9. 
	A   or
	B   and
	C   either 
	D   neither

	10. 
	A   justly
	B   completely
	C   under  
	D   just 

	11. 
	A   reproduce
	B   produce 
	C   induce
	D   reduce

	12. 
	A   scores
	B   rates 
	C   amounts
	D   bills

	13. 
	A   offspring 
	B   elders
	C   parents
	D   springoff

	14. 
	A   unstabilises
	B   disstabilises
	C   destabilises 
	D   restabilises

	15. 
	A   something 
	B   somehow
	C   anything
	D   anyhow

	16. 
	A   mustn’t
	B   not
	C   cannot
	D   don't 

	17. 
	A   predicts
	B   knows 
	C   forgets
	D   guesses

	18. 
	A   whichever
	B   whatever 
	C   whoever
	D   wherever

	19. 
	A   confronting
	B   confronts
	C   faces
	D   facing 

	20. 
	A   on
	B   to
	C   for 
	D   with


Final number of points:

Reading Comprehension

Version: 2013A

Text Sheet
Britain and the EU

     The recent call by London’s mayor, Boris Johnson, for the UK to cut most of its links with the EU is typical of a new form of centre-right Euroscepticism that is growing in Britain. The view of these Eurosceptics is that by pushing hard enough and shouting loudly, the UK can form a new relationship with the EU. They primarily want to gain access to and influence over a single market but none of the responsibilities they don’t like.

     At least this argument recognizes that the “fax democracy” model of the European Economic Area /EEA/ would not be good for Britain. The EEA agreement allows the non-EU members Iceland, Liechtenstein, and Norway to be part of the single market. But they have to adopt most of the single-market legislation – including the social and employment laws that right-wing Eurosceptics in Britain hate – while not having any power to shape or change those laws. 

     This is why a number of Conservative politicians are calling for a new “outer tier” of the EU, which could continue to shape EU laws. However, such an idea is based on the false assumption that the EU is so desperate that it will do anything to keep Britain, even as a partial member. 

     The EU has made special deals with some members of the European Free Trade Association /EFTA/, such as Switzerland, which has opted to adopt only parts of the single market and therefore avoids some regulation.

     But there is no way the UK would be able to get a single deal, mainly because the EU hates the current arrangement with Switzerland, and also because the influence of the UK on the market, especially for services, is too big for it to have a free ride.

     Central to the pro-European argument in Britain are the economic benefits of membership in the single market. It gives us access to 500 million consumers and the ability to shape how the market works to meet our needs.

     But it is not just the single market that is in Britain’s interest. So many of the problems that Britain will have to face in the future are cross-border, ranging from international crime to climate change, from finance to flights. 

     The EU needs reform, to improve accountability and safeguard the position of non-Euro members, but if it didn’t exist, we’d have to invent something similar to help deal with these challenges.

     British Eurosceptics ask questions on who would govern, for whom and how? Modern representative democracy depends on the consent of the governed. If that consent is lacking or is withdrawn, then the government is illegitimate. As the powers of the EU have increased, and because they are set to do so further with the ongoing financial crisis, this consent is being questioned as never before.

     British Eurosceptics also fail to understand that Britain’s postcolonial influence in the world is dependent on its international network. A strong relationship with the US, historic connections to its former empire and its membership in the European Union have significantly increased the UK’s influence on the international stage.

     It would be foolish for the UK to damage the most economically and strategically beneficial international relationship it currently has. Britain outside the EU would be a poorer and lonelier place. It can achieve much more by working together with its EU partners than it can achieve alone.

 adapted from Business Spotlight 2/13/
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1. Johnson claims that

A Euroscepticism shouldn’t be spread in the UK.

B new links with the EU will reduce Euroscepticism.

C the UK should cooperate with the EU.

D Britain should limit cooperation with the EU. 

2. According to British Eurosceptics

A the UK deserves a leading position in the EU.

B the UK should get rid of the responsibilities it dislikes or leave the EU.

C access to a single market and a strong influence over it are their priorities. 

D the UK should participate in forming of a new relationship between the EU and other members.

3. The model of the EEA

A is harmful for EU members.

B preserves the right of non-EU members Iceland, Liechtenstein, and Norway to participate in the EU process of legislature.

C enables Iceland Liechtenstein and Norway to be part of the single market if they accept most of the single-market legislation.

D offers to join EU members and non-EU members within a single market.

4. The social and employment laws

A are shaped by the needs of EU members as well as non-EU members.

B represent an obligatory part of the single-market legislation.

C are against British interests.

D must be adopted primarily by non-EU members.

5. The “outer tier” of the EU

A means opening the door of the EU to new members.

B would provide Britain with better conditions within the EU membership.

C is a form of agreement between the EU and British conservative politicians.

D would be, for Conservative politicians, a step further in shaping EU laws.

6. The EFTA 

A claims better position for its members towards the EU.

B acts against any regulations within a single market.

C has been offered special conditions for some of its members by the EU.

D rejects accepting any form of regulation imposed on its countries by the EU.

7. For the EU

A Switzerland is a strong and stable partner.

B the UK is a country which can’t be more independent than its other members.

C the UK and Switzerland should cooperate on a similar basis.

D the UK, as a big country, is the most valuable member of the Union. 

8. Opponents to Eurosceptics

A see the economic benefits of membership in the single market as the most important argument.

B feel the support of 500 million consumers in Britain to stay in the EU.

C argue that cross-border problems such as international crime may cause difficulties within the EU. 

D see the single market as a platform for discussions of international crime or climate change.

9. Eurosceptics

A call for a referendum whether to stay in the EU or withdraw from it.

B criticize the constantly increasing powers of the EU.

C believe that international networks will promote British influence in the EU.

D see the British government as illegitimate and incompetent for discussions with the EU.

10. Which of the following ideas prevails in the text?

A The EU should change its rules, otherwise Britain will leave it.

B  It is beneficial for Britain to stay in the EU.

C Britain would achieve much more by working outside the EU.

D Britain desn’t shout loudly enough to protect its own rights within the EU.
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QUESTIONS 1 to 7
1.) Professor Teahach thinks that the Old Testament and Hindu scriptures are: 


A. Religious propaganda 


B. Evidence that aliens have visited this planet 


C. Both equally the Word of God 


D. Evidence disproving the existence of intelligent life elsewhere in the universe 

2.) The Professor feels that purely biological explanations of human existence: 


A. Are the only possibility for modern people


B. Are absolutely crazy 


C. Offer hope to humanity 


D. Offer no real meaning 

3.) What did the Administration review board ask Professor Teahach to do? 


A. recant 


B. revise his belief in extraterrestrial intervention 


C. publish the results of his research 


D. recalibrate 

4.) Profess Teahach was brought before the review board because:


A. He told students that the Bible had been written by aliens 


B. He told students that aliens created the world is six days 


C. He told students that one day the aliens would come back to earth and breed 

                 with humans


D. He told students the aliens had once bred with humans to produce more 

                 intelligent humans

5.) Which of the following best describes the reaction of the review board when it heard  

      Professor Teahach’s views? 


A. the board members ignored his ideas 


B. the board members gasped in awe at his ideas


C. the board members smirked and groaned at his ideas 


D. the board members feigned interest in his ideas 

6.) How often had Professor Teahach attended Church? 


A. never in his life 


B. every Sunday for ten years 


C. once, on 5 May, 2011 


D. regularly, since he was a child

7.) Why did the woman stand up at the review board meeting? 


A. to cheer for Professor Teahach


B. to praise Professor Teahach for his scholarly contribution to the new field of 

                alien studies


C. to denounce Professor Teahach for teaching lies


D. to ask Professor Teahach to contact the aliens on behalf of the university 

QUESTIONS 8-20

8.) Where is Beth from? 


A. South America 


B. Burbank, Alaska 


C. Burbank, California 


D. Litoměřice, Czech Republic 

9.) Why is Beth in the Czech Republic?


A. She is on a business trip 


B. She has never been there before and wants to see it


C. She is visiting her family 


D. She is on a tour 

10.) How many times has Beth come to the Czech Republic? 


A. Four or Five times


B. Five or Six times 


C. Only once 


D. Two or Three times 

11.) What did Beth say about the Czech language? 


A. It is easy, with practice 


B. It sounds soft and melodious 


C. It seems sophisticated 


D. It sounds harsh 

12.) Which of the following can be determined from the interview? 


A. Beth’s grandparents came from Czechoslovakia 


B. Beth has a lot of grandchildren all over the world 


C. Beth is trying hard to learn Czech 


D. Beth has a son and a grandson who live in the Czech Republic 

13.) Beth says that where she lives, 


A. people usually walk to the supermarket to shop 


B. people always take their own bags for shopping at the supermarket 


C. people drive to big supermarkets and come home with many bags in the car 


D. older people often walk together to the market 

14.) How often does Beth eat lunch down at the square? 


A. on Thursdays only 


B. every day 


C. once a week 


D. never 

15.) Which kind of food does Beth say she misses? 


A. good American potatoes 


B. salads and vegetables 


C. pork drowned in delicious sauce  


D. tacos 

16.) How often do Beth and her son go out for steak? 


A. rarely 


B. often 


C. never 


D. frequently 

17.) Beth likes the restaurant in Prague because 


A. the sauce is good 


B. they put ice in the drinks 


C. it is very cheap


D. the iced tea is excellent 

18.) When Beth first visited in 1992, who was she traveling with? 


A. her brother 


B. her daughter 



C. her boyfriend 


D. her husband 

19.) Beth implies that over the years the Czech Republic has become 


A. less like America 


B. more like America 


C. much cheaper 


D. much more friendly 

20.) Beth says that 


A. she feels more and more lonely because no one speaks English


B. she has made friends here and they speak English with her 


C. she does not like to talk with people about their personal lives 

D. she has no friends here in the Czech Republic 


Answers for listening comprehension
1.) B. 
2.) D. 
3.) A.
4.) D. 
5.) C. 
6.) A. 
7.) C. 
8.) C. 
9.) C. 
10.)A. 
11.) D. 
12.) D. 
13.) C. 
14.) B. 
15.) B. 
16.) A. 
17.) B. 
18.) D. 
19.) B. 
20.) B. 
Reading Answers
1. D

2. C

3. C

4. B

5. D

6. C

7. B

8. A

9. B

10. B

